QUESITI SimuLAzioNE 24 APRIE

49 Dot ﬁa/ MIMMO, d- w.—(le;o Yed ¢ Ko
W b = A

— - - -

[

= B A

’(,Qfdv.,.,6 £ ‘3:/“1\( ﬁ:’<
29 delle 0"“‘"“’}%"”{[“ —3 T
L ertos ("(if) £ o %
(X 4)8 (q-P) % - to problme Bz(4/0); <=4

- + %”P)_—;% mel luoow':u me DE(4/0) ==
(x-4) + (j—o)z—; 1° = x- 2_x+/ft/+j2:/1/
Fotomte Le Of/m(c"qw“&%% mel IG[MAML prs
,Qﬁl%(omli j:‘\/z,x—)("' |
m %+o ?’thm#o r—‘k d U rput mone /Q O«Q/ﬁb}}q_,
@(& ‘(H)owv&oﬂo Ofﬁr A oftc.e ﬂoﬁ A(g'['aw,a_;

gz mx 2 ( ,

Ax—x30 (Cond. 42 ﬂm's’cauy-) 0
K20 _

x(2-x)20~
NS —F -

M X ;o(&wo{,d) am’ﬁ?aoo,) O<£xe 2

dotp e prs0=> Mx20 9 X209

Osxe2 0L X£2
L e D
( ZX =X Y: fm (/V"‘t"'/l) )(L—— )X = O
T /. F X =2
K et - 2] zo
\ o - 2

-4







